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Calculate these:

1.
2.06 + 9.77
2.
0.87 + 1.79 

3.
23.7 – 19.08
4.
9.23 – 2.07

5.
13 + 91.03 + 12.3
6.
2.37 + 0.94

7.
44.9 + 172.9 + 87.36
8.
5.05 + 3.9 + 8 + 0.97

9.
18.97 + 2.9 –17.86 + 5.04
10.
£204.67 – £49.20
11. A piece of string measures 5m. A piece of length 84cm is cut off it. How much string is left (in metres)? (remember: 1m = 100cm)

12. Daniel was given £20.00 for Christmas. He bought a CD costing £7.89 and a poster costing £3.49. How much money does he have left?

13. A large container of oil contains 20 litres. On Monday, 2.34 litres is used, and on Tuesday 1.56 litres is used. How much oil is left in the container?

14. A new exercise book costs 65 pence, a ruler costs 39 pence, and a calculator costs £3.98. How much will the three items cost altogether?

15. Chloe wants to buy 33/4 metres of red fabric. The shopkeeper says he has only 2.80m left. How much short is this of what Chloe wants?

16. Robbie buys a bottle of Coke for 79p and a bar of chocolate costing 34p. He give the shopkeeper a £2 coin and he gets 77p change. Is this correct?

17. The next day, Robbie buys a loaf of bread costing £1.09, some apples costing £1.85, and some cheese costing 77p. He hands the shopkeeper a £5 note and receives £1.29 in change. Is this the correct change?  
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